( )
o )

Exam Style Questions

Limits of Accuracy Corbettmatths
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Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed
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Guidance

1. Read each question carefully before you begin answering it.
2. Don'’t spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings

4 R
Revision for this topic . -
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A bag of apples weighs 7Kg, correct to the nearest kilogram.
What is the least possible weight of the bag of apples?

2. The length of a table is 105 cm, correct to the nearest centimetre.

(a) Write down the smallest possible length of the table.

1)
(b} Write down the largest possible length of the table.
C <
...... 1099 em
(1)
3 The speed of a car is 50 mph, correct to the nearest 10 mph.
(a) Write down the lowest possible speed of the car
4
............. reeereeeenTIPO
1
(b) Write down the greatest possible speed of the car
G5
......................... mph
(1)
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The distance between the Sun and Earth is 150,000,000 km, correct to
2 significant figures.

(a) Write down the lower bound

[t9 OOOJUOUkm

..... 5 T S
1)
(b) Write down the upper bound
155,000,000
......................... km
(1)
An average clementine weighs 749 to the nearest gram.
A net contains 12 clementines.
The net weighs 20g to the nearest gram.
What is the maximum possible weight of the net of clementines.
. e
g % - » , . el
dwﬂlm At D ld X F6-5 ¥ 203
net prok = Q05
AL
_________ 1.9
(3)
6. Find the least and greatest total iength of 6 sausages, each measuring 8cm to
the nearest centimetre.
i
2.5 X b =
g5 x4 =
5
Leastlength ........................ cm
Greatest length ........ 6' ........... cm
(2)
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A rectangular rugby pitch has width 74 metres, measured to the nearest metre.

(a) Write down the upper bound of the width of the pitch.

......................... m
(1)
The length of the pitch is 115 metres, measured to the nearest 5 metres.
(b) Work out the upper bound for the perimeter of the pitch
o i 1175
Fo 5+ Fgs 4 (135 #1E5+ B4
(3)
Anthony measured the length and width of a rectangle.
He measured the length to be 18cm correct to the nearest centimetre.
He measured the width to be 10cm correct to the nearest 10 centimetres.
Calculate the lower bound for the area of this rectangle.
|75 %X5 =
........ ? ;’bcmz
(2)
A circular mirror has a diameter of 60cm to the nearest centimetre.
Find the greatest possible area of the mirror.
Give your answer in cm?
Jiondior 605
—
rmﬂ{u.’)‘ 3035
T N
“FT X 3025 g-g"“r?\sqcm*?
(3)
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10. The heights of 6 plants are listed below.
Each height is given to one decimal place.

{55 e 705 NYe q.{5 b5
4.5cm 7.2cm 8.1cm 9.6cm 9.1cm 3.1cm
-4 Fis g -5 4-575 G.05 306

{a} Work out the smallest possible mean.

......................... cm
(2)
(b) Work out the greatest possible range.
4
/"
6 (945 ..
......................... cm
(2)
The width of a rectangle is 50cm, correct to 2 significant figures.
The length of a rectangle is 115¢cm, correct to 3 significant figures.
(a) Write down the lower bound for the width.
e
(9.5
......................... cm
1)
(b) Calculate the lower bound for the area of the rectangle.
: <
5% [tk 5
SL{#-15
......................... cm?
(2)
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Declan ran a distance of 200m in a time of 26.2 seconds.

The distance of 200m was measured to the nearest 10 metres.
The time of 26.2 was measured 1o the nearest tenth of a second.

(a) Work out the upper bound for Declan’s average speed.

&
5: —
7
max d 105
* 5: /K = 7
Me PV 1 ﬁT‘{ 7* ) g J /s
(2)
(b) Work out the lower bound for Declan’s average speed.
5 /!"?A.m(j‘ _ ;L?ﬁ
e o= 7 e
! /Mx’f ﬁg <5
Ly 6
2f&f} ...... m/s
(2)

13. Acircle has an area of 120cm? to the nearest 10cm2.

Work out the upper bound of the radius
—

e el = / a5

A
. 12
S
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Sophie estimated that the distance between Bristol and Newcastle is about
290 miles and that her average driving speed would be 60 mph,

She estimated the distance to the nearest 10 miles and the speed to the nearest

10 mph. ﬁuitk&% 1.me

Calculate the lower bound of the time the journey should take.
Give your answer in hours and minutes.
Give your answer to the nearest minute.

e
qur{/ﬂ:& t- ’a'5/ & s>

................... hOUrS ..oovvevvensenn....minutes

(4)

15.  The final velocity of a traveling object is given by the formula

where v is the final velocity
u is the initial velocity

a is the acceleration

and tis the time

Given u = 2.4 m/s correct to 2 significant figures, 95
a = 12 m/s? correct to 2 significant figures, /J+S
and t = 5 seconds correct to 1 significant figure. (-4~

Calculate the lower bound for v.

-

= 939 ¢ (15X 4

1]
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The curved surface area of a cone is given by the formula

Mt
where A is the curved surface area

r is the radius of the base of the cone
and | is the slant height

Given A =220 cm? correct to 3 significant figures,
and r = 8 cm correct to 1 significant figure.

Calculate the upper bound for .

23052 T« 5+

2902 —,‘(/

2.57
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Shown below is triangle RST.
Angle SRT is 53°, to the nearest degree.
ST is 17cm to the nearest centimetre.

17cm

53° e

R

Work out the upper bound for the length of RS.

¢ i
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18.  The length of the base of a triangle is 10cm, correct to 2 significant figures,
Ed » The length of the perpendicular height of a triangle is 15cm, correct to 2
significant figures.

(a) Calculate the upper bound for the area of the triangle

ﬁ: \/Q\b/\,

1y

.................... cm?
(2)
(b) Calculate the lower bound for the area of the triangle
4e o x 4.95 X 145
-
731757
.................... cm?
(2)
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